Quiz 59

1) With a choice of these hearts to play you select the nine. v9632
What does this mean if your signal is a) Attitude
b) Count
c) Suit Preference
2) This time you select the two from this holding v852
What does this mean if your signal is a) Attitude
d) Count
e) Suit Preference
3) You lead the underlined card against a 4 ¥ contract. Partner plays a8 and South follows with 3.
Which card do you play next?
AJ92 aJ92 AJ92
N N
AAK75 a4 aKQ6 a4 AaKQ62 a4
W E W E w
S S
4) Here are two hands where the bidding and play to the first two tricks is identical.
aJ74 aJ74
vA105 vA105
+KQJ1085 +KQJ1085
%8 %8
A AK852 N A AK852 N
v38 W E v8 W E
¢ A763 S 49763 S
*Q95 *AQ5
West North East South West North East South
1a 2¢ Pass 2v 1a 2¢ Pass 2v
Pass 3v Pass 4v Pass 3v Pass 4v
Pass Pass Pass Pass Pass Pass

You are West. You lead the ace of spades and partner follows suit with an encouraging three.

You cash the king of spades, and partner discards a small club.
Which card do you play next and why?
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